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10.

Instead of swimming, he plays tennis. ( * )

He is playing the violin, instead of piano. ( ¥ %)

He is now studying German, instead of Italian. ( ¥ )

He has no way to know this.  After all, this is top secret. (£ % )

We cannot expect too much of him.  After all, he is only a child. (£ )

This mathematics problem is too hard for him.  After all, he is only a student.
(Z3)

| am not able to do this job. (# it )

He is not able to swim. (# it )

None of them is able to lift such a heavy thing. (it %3 )

We make sure that all of them are able to speak English. (it 43 )



